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Note : This paper contains ONE HUNDRED (100) multiple-choice and matching

questions, each question carrying TWO (2) marks. Attempt All the questions.
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C B, A uallel s avall 8. Hells wrrl A () m B,

Strange and false perceptual 1. [ A wig uals@-dl vgea

experiences are termed as :

{A) Delusions

(B) Paranoia

(C) Hallucination

(D) Social withdrawal

In John Watson’s “Little Albert”
experiment, what was the UCS ?
(A) The white rat

(B) The little boy

(C) Anything white and furry
(D) The loud noise

When asked why she fears spiders,
Saloni is unable to explain her fears,
where they came from, or how she
got them. This is an example of :
(A) Semantic memory

(B) Episodic memory

(C) Procedural memory

(D) Echoic memory, which holds

memories we cannot retrieve

Paychology-I1

2.

........ a3y AR D,

(B) Uil

© Qo

D) AIHIDE YU

Feln dieAql “[a2e wend’’ <
UYL AR GEus ... 0.
(A) ¥3e Gel

(B) vl ouns

(©) 56ua ude wd Jadlay

@) {2l sy

W3 AR A s S A
A4 Yol id B 3 53 suiell el
512 A3 2, 3l A 4yl ol A e
VUM HNY . B WL Hel 5

Wlag Gelsw eufld 8 7.
Aa) wflanys 3R
(B) ueruens wyfd
©) nucs vyfa
(D) @R PA-F Adl wel AAL B 3
B Y M A 871 Asy
[P.T.0.].



- 4. Algorithms are a type of :

(A) Mechanical solution
(B) Heuristics

{C) Rule of thumb

(D) Means-end analysis

A fized action pattern is best

illustrated by which of the following
- examples ?
(A) Jackie’'s need to climb
mountains

(B) Marlon’s motivation to make a
lot of money
(C) A baboon rising on hind feet
when threatened
(D) A dog sitting by the window an
hour before his owner comes
‘home
Which of the following psychologists
added a'perfoi-mance scale in an
a:ttenipt to measure non-verbal
" gkills and rule out other cultural or
educational biases ?
(A) Wechsler
(B) Binet
(C) Gardner
(D) Sternberg
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According to Rogers, anxiety and

neurotic behaviour result from :
(A) Unconscious conflicts and
desires o
(B) A mismatch between the real
. and the ideal self

* "{C) Receiving too much

unconditional positive regard
from significant others
(D) Learned habits and behaviour
Which of the following is not a
component of factor analysis ?
(A) Eigen values
(B} Factor loadings
(C) Factorial design
(D) Ttem analysis
The order of scales of measurement
for increasing degree of precision in

measurement is :

(A) Ordinal, nominal, interval,

ratio

(B) Nominal, ordinal, interval,
- ratio

(C) Nominal, interval, ordinal,
ratio

(D) Ordinal, interval, nominal,

ratio
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10.

11.

12.

Which of the following regulates
regulation and coordination of basic
motor activities ?

- (A) Medulla

(B) Pons

(C) Reticular Activating System

(D) Cerebellum

Which of the following explains,

why people help ? |

(A) Bystander effect '

(B) Diffusion of responsibility

(C) Lack of empathy

(D) Empathic joy

Motor development in babies

develops in a proximodistal fashion.

This is best described as :

(A) From nearest to the center of
the body to the farthest from
the center '

(B) From the top of the head to the
bottom of the feet

(C) From the farthest from the
center to the nearest to the

center

. (D) From the left of the body to the

right of the body
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13.

14,

15.

- Who aniong the following is not

associated with the concep-
tuaiizétion of moral development ?
(A) Chomsky |

(B) Gilligan

(C) Kohlberg

(D) Piaget

The path goal theory was originally

developed by :
(A) Martin Evans
(B) Fred Luthans

- (C) Robert House

(D) Vroom
The learning perspective states that

the main cause of mental disorders

- 18

(A) Reinforcement of maladaptive
behaviour leafned thrbugh
experience |

®)
©)

Irrational thought processes
Internal conflict from one’s
childhood

(D) Low self-esteem
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16.

17.

18.

Who is the first one to research
phi-phenomenon ?

(&) Rubin

(B) Kofika

(C) Gibson

(D) Wertheimer

Sunny sells shoes for a living. His
salary depends on how many shoes
he can sell in a two-week period
What schedule of
reinforcement is Sunny being paid
with ?

(A) Variable ratio

(B) Variable interval

(C) Fixed ratio

of time.

(D) Fixed interval

Suppose you are absorbed in
readmg a novel and a friend asks
you a question. You stop reading
and aak, “What did you say ?” As
soon as the words leave your mouth,

~ you realize you can recall your

friend’s exact words. What is the
reason for your ability to play back
these words ? |

(A) Iconic memory

(B) Echoic memory

(C) Semantic memory

(D) Sensory memory
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19. When a problem is seen as having 19,

20.

only oné answer, with all the lines

of thinking leading to that answer,

it is known as ....... . thinking.

{A) divergent
(B) convergent

(C) creative

(D) mental set

| 7
By age five, children have acquired

-many of the complex thoughts and
" behaviours that accompnay being

male or female. This is best known

as
(A) Gender identity
(B) Gender roles

) Sexual identity

(D) Sexual cognition
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21.

22.

Robert Sternberg’s Mﬁhic theory

of intelligence was divided into

three categories. Which three

categories are correct ? .

(A) Practical,
creative

(B) Experimental, analytical,

problem solving

intrapersonal,

(C) Experimental, problem solving,

practical
(D) Analytical, problem solving,
practical

‘Internal and exterhal locus of

control are the concepts given by :
(A) Seligman

(B) Bandura

{C) Rotter

(D) Abramson -

. Hypothesis is a statement :

A)
B)

Which can be proved by hunch
Which is formed to disprove
without evidence

© Wi
_a. problem

Which can be | proved or

D)
disproved depending upon data
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24,

26.

What sort of data income of the
family is ?

(A) Ordinal

(B) Nominal

(d) Interval

(D) Ratio

“We forget because we want to
.forget” was said by :

(A) Bartlett

(B) Ebbinghaus

(C) Melton

(D} Freud

Low levels of which neuro-
transmitter has been implicated in
studies of aggression ?

(A) GABA

(B). Dopamine

(C) Serotonin

(D) Norepinephrine

Psychology-I1
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27. According to Jean Piaget, at what

~ stages of development are children
able to grasp the concepté of object
permanence and conservation,
respectively ?

(A) Formal operational; preope-
rational -

(B) Concrete operational; formal
operational

(Cj Sensorimotor,  concrete
~ operational

(D)

. Which of the following is not a

Sensorimotor; preoperational

developmental stage according to
Eric Erickson's theory ?

(A) Initiative Vs. Gmlt

" (B) Industry V. Inferiority

(C) Intelligence Vs. Dumbness
(D) Integrity Vs. Dispair

. Which of the following is not a stage

of organizational socialization ?
(A) Anticipatory socialization
(B) Encounter |
(C) Acculturation

(D) Change and acquisition
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30. Which of the following examples

31.

best illustrates a person with

obsessive-compulsive-disorder

(OCD) ?

(A) Samir hyperventilates when-
ever he is m an elevator

(B) Shaily complains cozi'stantly

about feeling sick and goes to

many doctors |

(C) Bhaskar wanders around town

in a daze, not sure how she got

there
(D) Anil must lock his door 10 times

before he leaves for work every ‘

| morning

Mullgr-Lyer instrument helps to
understand which method of
psychophysics ?

(A) Method of minimal changes
(B) Method of constant stimuli
(C) Method of adjustment

(D) Method of signal detection

Psychology-11
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32.

33.

(B)

Which of the following statements

best defines classical conditioning ?

(A) A type of learning in which
behaviours are produced based
on rewards and punishments
A type of learning based on
modelling or imitating the
behaviour of others

(C) A type of learning in which a
response naturally elicited by
a stimulus comes to be elicited
by a formerly neutral stimulus
The by which

experience or practice results in

D) process
a change in behaviour
While walking home from a party
drunk, Jayram witnessed a crime.
When questioned by the. police the
following day, he could not

remember what he saw. After

~ drinking some liquor, Jayram

remembered the c¢rime. This

. phenomenon best illustrates :

(A) The framing effect

(B) Short-term memory loss

(C) Hypnotic amnesia

(D) State-dependent memory

Psychology-I1
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34.

36.

Which of the following is an

example of functional fixedness ?

(A) Using a blanket as a floor mat

(B) Not being able to solve a math
problem because you are using
the incorrect formula

(C) Replacing oil with apple sauce

| when baking a cake |

(D) Failing to use your keys to
open a package when you can’t
find a pan' ‘of SCISSOTS

Three weeks after winning the

lottery, Tanya gave birth to Sophia.

Tanya claimed that winning the

lottery was the most exciting thing

to happen to her until she gave

birth to her daughter. This is an

example of :° '

(A) The adaptation level theory

(B) The rules of happiness theory

(C) The Yerkes-Dodson law

- (D) The psymo-:évoluﬁonary_ theory
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36. An architect would likely have good

37.

spatial intelligence, a gymnast or
dancer would likely have good body-
kinestﬁetic intelligence, and a
ps&chologist would probably have
good intrapersonal gkills. Which of
the following psychologists would
agree with this statement ?

(A) Gardner

(B) Spearman

(C) Thurstone

(D) Guilford

According to Eysenck, a person who
is sociable, seeks excitement and
loves a good life, possesses a
personality :

(A) Neuroticism

(B) Introversion

- (C) Psychoticism

(D) Extroversion

Random assignment of participants

is the main feature of .......
(A) Survey

(B) Experimental

(C) Quasi-experimental
(D) Developmental
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Which ‘of the fol.lowmg is/are used -

in the study of cntenon vahdﬂ:y of

. the a_ch;evemel_lt test ?

a Content of the syllabus -
(II) Ratings given by the teachers
(IDAttendance in class

(A) (D only -

~ (B) (ID only -

(©) (D) and (II) only

D) and (III) only

Damage to the .cereb_ellﬁ;n would |

most likely result in

* (A) Respiratory failure

41,

Psychology-ll

(B) Heart failure -

(D) Loss of hearmg |

(0) Loss of muscular coordination -

Gracla et al (2002) identified that
which of the fo]lowmg could reduce

* prosocial beahviour ?

" (B) Cost-benefit analysis

(C) Priming the. presence of

bystander
D) Pmblem solvmg strateg'les

41.
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" Payshology-1I

42 Aoeurding to Lawmma Kohlberg.
L dul'lng the pmmnvantional Bt&ge of

moral developrient children -tend
I- (A)_‘_‘;I'..Iue‘_ _.abﬁ_tract thoughts or
‘ prmclplesto Iciete_r_llniﬁe' their
Wﬁpw .
(B) Make hehavio.ura.l decisions
_ bued on legal issues - _
'-._'(C) Unde:ﬂand morahtyhaaed on
| customs or values
3 . CD) Interpwt behaviour in terms of

oona'ete eonsequences

Systemnt:c changesmthe mental

o proeeaﬁes that underlie all learmng

o "and performance in students 1s

lmown as :

A Moral developmenx

S ® Social and emotional develop- |

| .Jment
" (C) Cognitive developmant
" (D) Intellectual developiment

“ 18
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(III)Vmom
(IV) Porter and Lawler :

(A) (D) only

~(B) (II) only

(C) (IID) only

- (D) (III) and .(IV) only
. Which of the following disorders is -

not an anxiety disorder ?

_ (A) Phobias

(B) Panic.
(C) Hypochondriasis

E D) ‘Obsessive-compulsive
. Taste : lgramoftablesaltmEOO
" liters of water; an;.ell 1 drop of

perfume diffused throughout a

| three-room apartment; touch : the
'wingofabee'fal]ingonyourcheek -

from & height of 1 centimeéter away.
These are all examples of :

_our senses
(B) The difference threshold for our
- senses | .
(C) The absohite threshold of cur
- senses = - |

\ 44 Wlnch of the fol.\owmg 1slar'e prooess :
| theory/les of work motwatlon ?
- (@ Maslow | |
(1) Herzberg

" (A) The just noticeable difference of

D) Theadaptatlon of our sénses_ :

Psychology-II ' 18
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Psychology

~47. What 13 one major difference

between operant conditioning and
_classical conditioning ?
 (A) Operant conditioning takes
. place as a result of some
 voluntary action, while classical
' conditioning takes place
‘without choice
Operant conditioning takes
place before the regponse, while

(B)

classical conditioning takes -

. place after the response
(C) Operant conditioning is learned

by association, while classical

. conditioning is learned by
reinforcement | _

. (D) Classical conditioning is part of

social cognitive learning, while

operant conditioning is not

. 'The primacy effect is best explained

. by which of the following
- statements ? :

(A) Items on a list with umque'

- meaning are more likely to be

"(B) The first items on a list are

likely to be more effectively

~ rehearsed and therefore more
- likely to be remembered

(C) Items on a list presented more

- recently are more likely to be

remembered

O Items on a list with s:mphst:c

remembered

: mmngmmmhkalytobe'
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49,

' 60.

After watchiﬁg the evening news,

Sang.eetal-blolieves the néw_kcnst

co:iﬁains ‘only tragic events like

ﬁoods,’ earthquakes ‘and murders.
When asked to think carefully about

thengwscnst,shedidrecaﬂmany'

other events. This is an example

of -
(A) Representative heuristic
(Bj Avn.ilabi]ity heurisﬁc -
(C) Algorithm

D) Funcnonal fixedness |

Yourheartmracmg yourhreathmg'

'is rapid, and your mouth is

dry. What emotion are you

experiencing ?

(A) Anger

(B;) 'Fear

(C) Happiness _
D) Tt is not always possibié to

identify the particular emotion |

on the basis of physiological
reaction .

~ Psychology-I1. o,
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51.

. 52.

-(B)

)

_The WAIS and the WISC are

credlted for
(A)

Creatmg early mterventmn

programs for the mental]y il

" specific to different age groups
©)

equal for all cultures and races

of the term mental age

Which  of the following is most
d.mectly linked to & higher risk of'

| " ooronary heart. duleaae"

(A) '_Pype B personality
(B) Type C personality -
(C) Type A personality

D) Type D personality
. Amult:traxt-multlmethod approach

is uaed to study the :
(A) Alpha reliability of a test

®) .Cpnteﬂt validity of a test -
| (C) Developmental norms of a test

0 'Conétmct validity of a test

Payéhology-I1

Creatl_ng mtelhgence tests |
Creatmg one standardized test _

Creating a new .underst_;andmg :

bl.

52.

53.

WAIS 24 WISC 9 ﬁntet-
We ulg 9.

senanen

'(A) welis d eflwir %ué o(lat

emi{u su[au. sl

(B) Ry au %ul ) a&ssu ole

sild¥ 52l _ |
(©) 635 Wl @ Al w2 wun,

welld 504 23 s2a1
D) et ax e A wivs o

£a o
AAunidf)l f ssudl RouAdd

Gaiousunl wd Al 9.

(A) a84 B lbaes -
(B) &84 C Bt -

(©) 2N A Alddt

'_(D_) 264 D wugHsdL

agarluy RY YaR AP ...
i eu W fa'm.t‘la{[ 8.

Ay wéat_[a.aqa-(leL-[l sud |
® [a'.'?m: qutecull sa‘lél_

(©) Al il Rs

(D) ues (sewn) v saldi



. B4,

6.

56.

Which of the -fol_lowinﬁ is the non-

péramétric aquivalant of para_% :

metric two-way ANOVA test ?
(A) Mann-Whitney U test

(B) Sign test
_ (C) Friedman’s test
(D) Tukey’s test :
The hmbxc system is responmble'

for :

(A) The control of hunger, thlrst

~and sex

(B) Breathmg..regl.llatio:;a g

(C) Balance and coordination
(D) Speech o
'J1gna, who has never competed in

' :atlﬂetlcs is encouraged to enter the -
' '._schoolteamandwmsherﬁrstﬁ:ur

* races. If she thinks her success is
-a fluke; her attnbut.lons

if she decides that racing is an easy N

(A) External unstable, internal

“unstable

stable -

AAruniel sul [ﬁvtm?t.[att_,_f MRy

- Ruzm ymsak w9 ?
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stable

| (D) Internal stable, external stable_
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57.

K individuals successfully solve

their problems during each stage of -

 Tife, they will develop good social
. traits. If they do not, their problem-

solving skills will be hindred,

causing . new probléms' at the next

stage. Which peychologist(s) would
agree with this statement ?
(A) Freud '

(B) Piaget

" () Erikson

1
58-

D) (A) and (C)

Ed_ucat_ibnal '

sufficiently scientific and an

(C) Bahawoural science
| CD) Ethical science

What is linked mthporformanoe
appraisal ? | -

" (A) Job design

'(B) Development

(C)' Job analysis

'(D)_'Nona-'of the above

Psychology-I1
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60.

61.

62.

Lata is now 35 years old. She just
started therapy because she feels
“down in the dumps.” While in
therapy she realizes she has felt this

“way most of her life. She is most

likely suffering from :

- (A) Major depression

(B) Bipolar disorder

(C) Dysthymic disorder

(D) Generalized anxiety disorder
The name of the transparent
protective coating over the front part
of the eye is :

(A) Lens

(B) Iris

(C) Fovea

(D) Cornea

B.F. Skinner used his “Skinner Box”
to work on a procedure in which the
experimenter suowa_;sﬁl]ly reinforced
behaviours, which led up to the

desired behaviour. This procedure

is known as :

(A) Reinforcement

(B) Chaining :
(C) _Secondhry reinforcers
(D) Shaping

Psychology-11
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63. What is the correct name of the

memory files that contain related

information about a specifie topic or

category ?

(A) Prototypes

(B) Nerve cells

(C) Nodes

(D) Networks

. Which of the following statements

is not supported by the Whorf-Sapir

 linguistic relativity hypothesis ?

| (A) The language a person speaks
determines the way a person
thinks

(B) If language lacks expression,

. the thought that corresponds
"~ will likely not occur

(C) There is evidence to support
“that language development has
inborn tendencies

(D) Iflanguge affects our ability to
store information, it should
affect our thought process

. Which of the following is not a need

according to McCllelaﬁd’s theory ?

(A) Extension |

(B) Affiliation

(C) Power

(D) Achievement

Psychology-I1
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66.

67.

Psychology-I1

If genetic factors contribute to 1Q
scores, then fraternal twins should
have : |
(A) Less similar 1Q scores f.han
identical twins
(B)
identical twins
(8] More similar 1Q scores than
- siblings
(D)
Which of the following is/are the

Completely different IQ scores

correct characteristic/a of a fully

functioning person according to

Rogers ? _

(I) Seeks the balance betwéen
relaxed and ideal self

(II) Actively éxplofes into his/her
potential and abilities

(IIT) Depends on conditional respect
from the key persons in life

(A) (D) only

(B) {I) only

(C) (D and (ID) only

(D) (I)., (IN) and (III)

More similar IQ scores than

67.
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68. Under which of the following g8, A+ 5 W2 Rafi ol wAly 232

69.

70.

situations non-parametric tests are

the best methods of analysis ?
(I) Interval scale data ‘
(I) Nominal scale data
(IIT)Ordinal scale data

aw Ratio scale data

(A) (I) and (II) only

(B) (II) and (III) only

(C) (D) only

(D) (II1) and AV} only |
The first rating scale was developed
by :

(A) Starch

(B‘) Binet

- (C) Ebbinghaus

(D) Galton
Wernicke’s area is located on which
lobe of the brain ? |

(A) Left temporal lobe

(B) Right temporal lobe
{C) Left occipital lobe
(D) Right occipital lobe

Psychology-11
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71.

72.

73.

A fundamental problem with
attribution theory is that it posits
an individual is often ......... in his/
her seeking for causes in social
Such

behaviour. theorizing

underestimates the importance of

(A) Active, given

(B) Active, shared

(C) Passive, given

(D) Mistaken, shares

Harry Harlow’s experiment with

- monkeys and surrogate mothers

emphasized the importance of :
(A) Satisfying hunger |
(B) Body temperm‘ture

(C) Intrinsic motivation

(D) Contact -

There are several other names for
the direct instruction model. Which
of the following is not a name for
direct instruction ?

(A) Active teaching model

(B) Explicit instruction

(C) Inductive teaching

(D) Mastery teaéhing

Psychology-_II
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74.

75.

76.

. unexpected

The internal flexibility to adapt to

changes in

environment is known as the :

(A) Productivity goals |

(B) Overall performance

(C) Learning organization

(D) Innovations

Which of the following symptoms

best illsutrates schizoid personality

disorder ?

(A) Disregard for the rights of
others, feeling little to no
remorse for bad behaviour

Submissive behaviour,

(B)

exceséive need to be taken care
of

the

74.

75.

(C) Acute discomfort in close
relatioﬁships, _ distorted
thinking and = eccentric
behaviour

(D) Intense desire to be orderly,
having total control over others
The greatest density of cones exists
in which part of the eye ?

(A) Cornea '

(B) Lens

(C) Pupil

(D) Fovea

Psychology-11
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77.

78.

Which of the following scenarios is
the best example of a cognitive
map ? |
(A) A dog sits by the window an

hour before her owner should

 return home

(B) A little girl remembers to get

her jacket before leaving for
school

(C) A boy follows his big sister

 home on his bicycle
(D) When asked for directions to his
job, a man recites them in great
detail
Maya' is currently enrolled in a
French class at her local college.
While -on spring break, Maya
travels to France. She is excited to
practice her new gkills, but when she
gets there she is having trouble.

'~ Every time she tries to speak

French, German words she learnéd

in high school come out. This is an-

example of :
(A) Retroactive interference
(B) Proactive i_nterference

- {(C) Retrograde amnesia
- (D) Anterograde amnesia

Psychology-I1
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- 79. Anal and Vrunda are looking to buy

a new Ilhome. One criterion is a
prefere.nce for a brick house.
However, they would consider
' changing their minds and buying
a wood house if it were located in
a good school district and
| ‘reasonably priced. In this case the
.attractive feafui'es off set the lack
of brick exterior. This is an example
of : | |

(A) Representative heuristic

-(B) Cmﬁpensatory model

{C) Non-compensatory model

) Avéilﬁbility heuristic

. Which of t.he following is. responsible
for emotional reacti‘ons and
behaviour ?

(A) Hypothalamus

(B) Mmm

~(C) Limbic system

(D) Pituitary gland
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81.

82.

Which type of intelligence,
according to Sternberg would most

likely be measured by traditional

intelligence tests ?

(A) Analytical

(B) Creative

(C) Practical

(D) Emotional

Devdas used to smoke a lot and a
psychologist informed him that he
is an addicted smoker. Devdas never

accepted this feedback. According to ‘

psychoanalytical approach, this

is : :

(A) Repression

(B) Denial

(C) Regression

(D) Sublimation

Under which conditions a multlple

correlation will be suitable

correlational analysis ?

(A) Where there is an independent
variable and a dependent
variable

(B)

" a criterion variable

(C) Where there are two and more

predictor variables and a

criterion variable

D)
predictor variables and at least
two criterion variables
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84 Itemized rating scales are otherwise

~ known as :

(A) Numerical scales

(B) Rank order scales

(C) Graphic rating scales

(D) Comparative scales

. The process by which a tiny
 electrical current is generated when

the positive sodium ions rush inside
the axon, causing'the ingide of the

axon to reverse its charge, is

~ called :-

(A) Action potential

(B) Ion potential

(C) Resting state

(D) Synaptic state |

. The three dimensions of attitude

- (A) Aptitude, behaviour and
" cognition | |

(B) Affect, behaviour and cognition

'(ICI) Affect, behaviour _ and
perception

(D) Attraction, behaviour and

cognition

Psychology-I1
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87.

88.

89.

Carol Gilligan believed moral
decision-méking is dependent
primarily on which of the
following ?

(A) Age

(B) Culture

(C) Religion’

(D) Gender

Dr. Luke attends to emotionally
disturbed studefhts. Which guidance
service is being provided by
Dr. Luke ?

(A) Inventory servio_‘e

(B) Information service

(C) Placerﬂent service

(D) Counselliﬁg service

A rapidly changing environment
needs to adapt :

(A) Adhocracy

(B) Bureaucracy

(C) Diversification

(D) Ent.repreneur;sh;'p

Psychology-11
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-90.

91.

922.

Which of the following disorders
has, in some circumstances, been

treated with electroconvulgive

therapy ?

(A) Paranoid personality disorder
(B) Obaessive-oompﬁlsivg disorder
(C) 'Schizophrenia

(D) Major depression

The theory of color that best
explaing color afterimage is :

(A) The volley theory

(B) The trichromatic theory

(C) The opponent process theory

- (D) The substractive color theory

Which of the following statements
best exemplify the idea behind social
cognitive learning ?

(A) Learning occurs when someone
is punished for a behaviour
Learning is_'likely to happen

when we see someone elge

(B)

punisheci or rewarded for
behaviour '
(C) Learnihg occurs when someone
is rewarded for a behaviqur
(D) Learning occurs simply based

on observation
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93. Jay consciously pushes the due date

 for his term project out of his mind,
80 much so that on the day it is due,
J af received incomplete remark
from his teacher. This is an-example

of 1 |
(A) Repression
(B) Supression
{C) Amnesia
(D) Forgetting

. This pfoblem-soivin_g technique

involves analyzing the diﬁ'erence

between the curnérit situation and

the desired end, and thgn

93.

- 04,

doing. something to reduce that

difference :

(A) Subgoals

(B) Means-end analysis
~ (C) Brainstorming

(D) Heuristic
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95. The motivation cycle involves the

97.

following- orderly steps :-

(A) Need, Arousal, Drive, Goal
(B) Need, Drive, Arousal, Goal
(C) Drive, Need, Arousal, Goal
(D) Arousal, Need, Drive, Goal
Mental age can best be defined

as

(A) A method of estimating a child’s |
ability. by

intellectual
comparing the child’s score on
intelligence tests and his or her

age

(B) A method of estimating a child’s
intellectual ability based on

raw scores on intelligence tests

) ComparinQ a child’s actual age

with his or her computed age

(D) Basing a child’s age level on his

or her scores on a standardized
' test '

Who is associated with the

concept of “will to meaning” in

-personality ?

(A) Freud
(B) Jung
(C) Horney
(D) Frankel

Psychology-11

95.

97.

daeuasui HlA-naidl sieg sul
worellyi-l iy wa B o

(A) w3Rud, Gaosl, S, @y
B) w3Rud, SR, Gdws, @y
(©) Sm, w3Ruld, Gays, Ay
D) Gd%s, %3(Rula, S, Ay

AR Gl L WS vld
Sy B,

(A) oisd 9 s A A QR
Al avudld wuasdl ofs
Ml g dduag

®) auasdl ol sddai s
udisi s gle andid
A @ouag

©) sl ardfs Gz 21 el
s2a Gz Wl gan sadl

@ WHURA SAAAL Helisi e
onsel Gliad 2y «isél sag

cq&dcqm ‘Wi g’ Al ve a1l

sl s Astdg © 7

(A) §16s

®) 4

©) il

D) ¥4



98.

100.

If a researcher is trying to establish
a causal relationship between eating
breakfast and work performance, the
researcher should use which of the
following methods of research ?
(A) Case study

(B) Corrleational research

(C) Experimental research

(D) Survey research

Raven’s Progressive Matrices
test is a culture-fair test that
measures :

(A) Aptitude

(B) Social maturity

(C) Intelligence

(D) Social competence

Which of the following functions
best explains the role of the
sympathetic nervous syatem.?

(A) Preparing the body for a
traumatic event

(B) Returning the body to
equilibrium

Preparing the body for “fight or
flight”

Maintaining the body’s vital
functions

(C)

(D)

Psychology-II
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ROUGH WORK
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